Calculus 8 Quiz 8 (36) min) NAME:

Problem 1. Show that if the vector field F = (P, Q) is conservative, then necessarily Py = Qq.
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Problem 2. Find a function f such that F = Vf and use it to evaluate the integral / F.dr,
C
where F = (1 + zy)e™i + 22§ and C is given by r(t) = costi+ 2sintj, 0 <t < /2.
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Problem 3. Ewvaluate / xyz ds, where C is given the parametrization x = 2sint, y = t, z =

—2cost, 0 <t <. (Youcneed to use 2sintcost = sin(2t) and integration by parts).
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Problem 4. and the work done by the force field F
the parabola © = y* + 1 from (1 0) to (2,1).
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